Review Problem 2

< If a 200 MHz machine runs ¥ billion instructions
In 10 seconds, what Is the CPI of the machine?

100 Mz x 106 = 28 cydun
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« If a second machine with the same CPI runs the
program in 5 seconds, what is it’s clock rate?

4700 Midz
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Review Problem 3

« A program Is 20% multiplication, 50% memory
access, 30% other. You can quadruple
multiplication speed, or double memory speed

How much faster with 4x mult:
!
ed ( l% R
P e D

» How much faster Wlth 2X memory: (
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« How much faster with both 4x mult & 2x memory
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